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ENGLISH

¥ Read the passage carefully and choose the correct statement from the choices
given below:

Except for the so called religious differences. the people of Pakistan
and India have throughout history, shared the same destiny. culture. geography
and several other common features. There could be politicians in the
sub-continent and a few abroad who nurse a vested interest in keeping the
differences between the two countries in the boil. But the leaders of both the
countries. dictated by their innate wisdom, know full well, that both of them
have a world to win if they learn to go together sinking their difierences.

(A} The people of India and Pakistan have no common features

(B) The leaders of India and Pakistan know fully well that they may win a
lot if they stand 1ogether

(C) No one has a vested interest in keeping the differences berween the
two countries in the boil

(D) The leaders of the two countries always stand together

Dircction: (Questions 2 and 3) Pick out the ‘incorrect part’ from the following
sentences.

2. He commented that the streets were  full in dirt.
d

a b c
(A) a (B) b
(C) ¢ (D) d
1. Medium paced bowlers incricket deceiving the batsmen by swingine the ball.
a b c ' d
(A) a (B) b
(C) ¢ (D) d

Direction: (Questions 4 to 6) Pick out the correct meaning of the underlined
idioms from the answers given.

4, I asked him fo keep an eve on my luggage while I went to the toilet.

(A) watch (B) look
(C) see (D) hold on
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They have gone for good.
(A) forever (B) for doing good
(C) fora good future (D) fora good deed

He was pulling my leg when he made that comment.

(A) angry at me

(B) upset about me

(C) criticising me

(D) joking by saying that something is true when in fact it is not true

Direction: (Questions 7 to 9) Choose the correct question tag for the following.

T

8.

9.

Direction: (Questions 10 and 11) Correct the underlined part

10.

11.

We work hard, .......... ?
(A) arewe (B) dowe
(C) don’twe (D) didn’t we
Something is better than nothing, .......... ?
(A) issomething (B) isit
(C) isn’tit (D) was it
She came here yesterday, .......... ?
(A) didn’t she (B) did she
(C) has she (D) wasn’t she

sentences, if necessary, using the choices ok of the given

(A) isconvenient to (B) are convenient for

(C) are convenience to (D) no error

In ancient days the Japanese wife was i

vy expected to wait for her husband hand
(A) wait upon iti
(C) waitto > ::::: ::
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Direction: (Questions 12 and 13) Select the correct form of passive voice for the
following.
12. Raju was writing a novel.

(A) A novel is written by Raju

(B) A novel has been written by Raju
(C) A novel was writien by Raju

(D) A novel was being written by Raju

13. Who discovered America?

(A) America was discovered by whom?

(B) America was discovered by which person?
(C) By whom was America discovered?

(D) America was discovered by who?

Direction: Choose the most suitable implied meaning for the following saying.
14. A friend in need is a friend indeed.

(A) A good friend is one who does not need anything from us.

(B) A good friend is always sincere.

(C) A real friend always helps us.

(D) A true friend is that one who helps us when we are in real need

Direction: (Questions 15 and 16) Choose the word which is most similar in
meaning.

15. Obsolete

(A) Pleasant (B) Sincere
(C) Fashionable (D) Out of date

16.  Vanquish

(A) Defeat (B) Dismiss
(C) Decorate (D) Duslike
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Direction: Choose the most suitable word opposite in meaning,

17.  Transient
(A) Big (B) Unimportant
(C) Pernmanent (D) Serious

Direetion: (Questions 18 to 20) Fill in the blanks with suitable answers from the
choices given below.

18, My child was bormn .......... France,
(A) at (B) in
(C) of (D) for
19.  Inorder to gain success in life everyone has to .......... laziness.
(A) sleep over (B) doaway with
(C) take steps against (D) favour
20 Heisismas me on my Success.
(A) criticized (B} agreed
(C) concerned (D) complimented
MATHEMATICS
- ax+b |
21.  The derivative of IS
ex+d
ad + be)’ s
ex+d (ex+d)?
(©) ad + be
(ex+d)’ (D) None of the above
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22. lim 5.1:—4-\1'; is
=kl X—
(A) 1 (B) 2
() =i (D) 2
23. if y=J1—x1,1havaluenl' x, when %:1 15

24,

25.

27,

1 1
(A) E- (B) \E
© % (D) 1

The derivative of x* 15

(A) x* (B) x"(l+logx)

X
1+logx

(©) (D)

1+logx

The point of the curve y* =x*(20-x), where the tangent is perpendicular to
the X-axis is '

(A) (0,0)
(C) (20,0)

(B) (0,20)
(D (1.-1)

The ratio in which the line joining (2, 4, 16) and (3, 5, —4) is divided by the
plane 2x—3y+z+6=0is

(A) 1:2
(C) 2:1

(B) 1:3
(D) 23

The equation to the plane through (2, 3, 4) and parallel to the plane
x+2y+4z=51is

(A) 2x+4y+8z=45 (B) x+2y+4z=3

(C) x+2y+4z=24 (D) 2x+4y+8z=29
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28.  The distance between the planes 2x—2y+z+3=0 and 4x-4y+2z+5=015

(A) (B)

(D)

2
2
]
© <

o] — e

29.  The equation of the tangent plane to the sphere
ey ezt 4 2x+4y-6z-6=0 at(1,2,3)is

(A) x—4y+6=0 (B 2x+4y-10=0

(C) 2x-4y+9=0 (D) x+4y—8=0

30.  The function y=2x"—9x* —24x~20 has a maximum value at

(A) x=1 (B) x=-4
(C) x=-1 (D) x=4
1 4 8
31. [f_.d:[} 2 ’.-']andﬂ= 2 6 9 |, then the product 4B is
37 10
(A) [4 6 8] (B) [8 10 12]
€) [28 73 112] (D) [50 75 100]
32.  The solution of the system of simultaneous equations
2x+y+4z=12
x+3y-2z=7
S5x+3y-5z=-8
is given by
(A) x=-3,y=4,z=1 (B) x=3,y=4,z=1
(€) x=3,y=3,z=2 D) x=-3,y=—a,z=]
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33, Therankof thematrix |2 6 8 |is
3 T 22

(A) 0 (B) 1
(c) 2 (D) 3

34,  The system of equations;
x—-4y+T7z=14,
Ix4+8y-2z=13,
Tx—8y+26=-5,
is

(A) consistent (B) inconsistent
(C) has a unique solution (D) has infinitely many solutions

35.  The position vector of the point which divides the line joining (1, 2, 3) and
(2, 3, 5) in the ratio 2:3 is

(A) %(3?4—4}'”}] (B) %{ﬁﬂz}uyﬁ)
(C) %(ﬁhs}mié) (D) %[4F+3}+?E)

36. If&=2?'+}"—3§, E=?+3}-4§, the magnitude of 5-25. is

(A) 3 (B) 4
(€) 35 (D) 6

37.  The value of E sec(x) tan (x)dx is

(A) 1 (B)

(©) (D)

L | b
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38.  The definite integral _[r o has the value
+x
T
(A) 0 (B) —
4
1 il
C) = D) —
S 5 @ 3
. : - = E.F +E-.T
39. © The value of the indefinite integral I ————dx is

g-—a

e +e "

(A) (B) log(e+e™)

(C) log (e" — e"‘) (D) E: —g
e +e

40.  The solution for the differential equation: x (y- x)ﬂ’. = y( x+y) is
dx

]
(A) . logxy+e (B) y=logxp+logx+e

3 =] :
(C) y=logx+logx’+c (D) Jf'=fugx+lugy2+¢

5[11(9[}':’ — 5?”) ; cns(!)ﬂ” —33“) ‘

41.  The value of
cos 57" sin33°  °

(A) 0
i B) 1
© A (D) 2

L]
42.  The value of 22133 +mt—"EE__1 i
cot55° tani2®  ®

(A) 0
(C) 2 B 1
D) -2
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43,

44,

45.

46.

47.

48.

49,

9

IT sin @+ cos @ = 2 cos o, the value of cosd —sin @ iy

N 2 (B)  J2cos0
(C) J2gin0 (D) 2sin0cos0
The value of sin® & + I — 8
14 1an® ¢/
(A) O (B) 1
(C) 2 (D) sec’ @+ tan’ @

If 2sinf =1, the value of sec@ +tan @ is

(A) 0 B) 2
C N3 (D) 1

The value of cos1” cos2” cos3°...cos180° is

(A) 1 B) -3

© 3 (D) 0

The point on the X-axis which is equidistant from (7, 6) and (-3, 4) is
(A) (1,0) B) (O,1)
€ (©,3) D) (3,0

The centre of the circle passing through (5, ~8), (2, =9) and (2, 1) is

(A) (2,4 (B) (2,-4)
€ (-2,4) (D) (-2,-4)

The angle subtended at the origin by the line segment whose end points are
(0, 100) and (10, 0) is

(A) 30° (B) 45°
(C) 60° (D) 90°
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50.  The vertex of the parabola y =2x" —4x is
A 0,1 (B) (1,-1)
@ 4,2) @) (1,72)

51 If f(x)=(x+7)" and g{x)=ﬁ then (g= f)(x) is

1 1

S ®B) Grr)+1

1

1 (.!:+7}

D) =—— ot

© x+7 ®) (x+7) +1
52.  The roots of the quadratic equation . S 0 are

E A

(A) 1,2 (B) -1,2
© -1,-2 ®) 1,-2

53. The minimum value of the function
f(x)=x"~9x* —48x+52 in the interval -5<x<14 is

(A) 300 (B) -312
(C) -396 (D) 408

54.  The value of _[J:’ vx'+5dx is

1

®) (@) e B) (x*+1)i+c
© <[5 as)re ® L(xt+s)ive

7> e b wil e i 8l s s e 480 Afler v year
8 S m

Scanned by CamScanner



10 YO0 OO A
[ |
11

§6. U g(avne) e 3ty p'2?, then the pradient Vg, at the point (1, -2, —1) i8

(A) 1204 - 5K (1) 5i-3]+6k

(€Y ~12{-9) - 16k (D) —15/+25)-2k

57 WA= xe'i-2x" vz j 4 292k then curl A at the point (1,-1,1) is

(A) 5 (B) 0

(€ ajyak (D) -5k

58, I g3z et b dx y a1 20 -3y~ 5, then V¢ is

(A) z-dxysz'-p'a (B) 5z-3xy+z'+y'z
(C) Gz+24xy-22" -6y’z (D) ~3x—8xy+2z2'-3y’z
59.  The points (0, 7, 10), (=1, 6, 6) and (4, 9, 6)

(A) form an equilateral triangle (B) form a right-angled triangle
(C) form an obtuse-angled triangle (D) lie on a straight line

60, The length of the are of a sector of a circle with radius 10.5em and centre

angle 120° [usﬂumu o -%?%) is

(A) 24cm (B) 23cm
(C) 22¢m (D) 2lem

61. One of the factors of m* + 8 is m+ 2. The other factor is

(A) m’+2m+4 (B) m*-2m+4
€ m’—4m-+4 (D) m*+4m+4
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62.  The locus of a point which is equidistant from a fixed point is

12

(A) acircle
(B) perpendicular bisector of the straight line joining the two ponts
(C) angle bisector

(D) perpendicular lines

63.  The centre of 2 circle is(~2.3). One end of a diameter is (=3,~5). The other

end is
1 .) I
2 1 -
(A) ,'3_2. 1)‘ (B) [ 5 J
(Cy (-1,11) (D) (1,-11)
cosf 0O sinf |
64. IfA= 0 1 0 |thevalueof|d]is

|
[
I
L—sm{:? 0 cos#

(A) cos’@—sin’ 8 (B) 0
(C) 1 (D) sin’@-cos’@

65.  The square root of 16a” +9b” +4c” — 24ab+12bc-16ca is

(A) 4a+3b+2c (B) 4a-3h+2¢
(C) 4a+3b-2c (D) —da+3h+2¢

66.  The triple which constitute the sides of a right-angled triange is

(A) (4,5,6) (B) (5,12, 14)
(C) (9,40,41) (D) (11,60, 62)

67. ‘{Ia: arca r._rf a pam}lei_ogragr whose adjacent sides are
i=2j+3k and 2i+ j—-4k is

(A) Js B) 3/
©) sJs D) 7./
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68. If A=3-2j-2k and B=2i+3]+F, then (A+B)x(4-B) is

(A) i+ j—k (B) 3i+4)+9%k

(C) 2i-j-k (D) —8i+14/-26k
69. 1T L(f(t)) denotes the Laplace transform of f (1), then

@) L/ ()+g()=L{s()-L(g("))

®B) L(S(0)+g(1))=L(f(1))+L(g(1))

© L{r(0)+2()=L{f())xL(g(1))

@) L(s(0)+g()=L(s(0))+L(g(r))

70.  The value of ‘Ee‘"”” sind dd is

(A) 1 (B) e
(C) e-1 (D) 0
ENGINEERING MECHANICS

71.  The periodic time T is given by the following expression when motion of the
body is in S.H.M. (D = displacement and A = acceleration).

(A) T=2;:E B) Tem— 2

2z VA
©) T”"’\E (D) T=1J§
T VA
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72.  The velocity of a body moving in $.H.M is maximum when its acceleration is

14

(A) zero (B) maximum
(C) mean (D) None of the above

73.  The kinetic energy of a body of mass (m) and velocity (v) is equal to

(A) mv (B) s
2
&, 1o ) Rl

(©) 5 (D) >
74.  Energy may be defined as

(A) power of doing work (B) capacity of doing work

(C) rate of doing work (D) All of the above
75.  One watt is equal to

(A) 0.1 Joule/sec (B) 1 Joule/sec

(C) 10 Joule/sec (D)} 100 Joule/sec
76.  Work may be defined as

(A) force » distance (B) force x velocity

(C) force xacceleration (D) force x time

77. A ball of mass 1 kg moving with a velocity of 2m/sec collides directly on a

stationary ball of mass 2 kg and comes to rest after ; _
the second ball after impact will be tmpact. The velocity of

(A) zero 0.5
(C) 1.0m/sec % zoﬁz

78.  For perfectly elastic bodies, value of coefficient of restitution is

(A) .zee0 (B) 05
C) 1.0 e —
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79.  If u; and u- are the velocities of approach of twa moving bodies in the same
direction and their corresponding velocities of separation are v, and v; then, as
per Newton's law of collision of elastic bodies, the coefficient of restitution
{e) is given by

LT Uy =1

(A) e=—1— ®) e=——
H[ = H: 1 P 1 b
o e= v, =V (D) e= V=
() 1, — Uy ; Hy — 1,
80.  If a horizonial surface is moving up. on which a body of mass m is placed and

acceleration of surface is f, then force causing motion is

(A) m(g=r) (B) m(g-f)
(€ m(f-g) (D) mf

81. If two bodies of masses m; and mz (m;> m:) are connected by a light
inextensible string passing over a smooth pulley, when m; lies on smooth
inclined plane having ‘e’ inclination with the horizontal and m, is suspended
freely, then tension in the string will be given by

m;m:_(l+sinrz}g mym, (1-sina)

(B)

i, + . m, + m,

., (] +zgin H)

g(m, +m,)

(m, —m, sinar)
[*’"i + mz}

(C) g

82. If two bodies of masses m; and m; (m;>m;) are connected by a light
inextensible string passing over a smooth pulley, the tension in the string  will

be given by
zm';mz [m'l _mz]g
UM m, =1, : @ (my +my)
2m,m, < (my +m,)g
© m, —m, 8 (my, —m,)
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If G is gauge of the track, v is velocity of the mm_.rmg] veh::llle, sﬁ ;i
acceleration due to gravity and r is the radius of a circular path, sup

elevation required is

3 Gr

By (B) —
(A) G gvz
Gr? _G:"_

(C) ? : (D) gr

The centripetal acceleration of a moving body along the circular path of
radius r, 1s

r V:

A = w2

v i

©) ﬁ D) re

The linear velocity (v) of a moving particle along the circumference of a
circle of radius (r), with a uniform angular velocity ( ® ) rad/sec is given by

(A) v=ro* B) v=re
© v=rw (D) v:E'

'

The maximum height of a projectile on a horizonta] range is

u’ sin 2¢x

n u” sin o
B ~—— B 5
1 ¥
© n”sin 2e D) u” sin? a
g 2
g
The horizontal range of a projectile is
usin 2er
(A) - (B) u* sin 2¢y
g
usin2¢
© 5 ) wsinZe
2g
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For a maximum range of a projeetile, the angle of projection should be

(A) 30" (13) 45"
€y 60" (1) 75"

Cartesian equation of a trajectory, is

F 4
; ’x

(A) y=xsinag-—— -;}-"."—;—'
2utsin’ o

)
(B) y=xtaneg——>m
) 2 1an’ o

¥
(C) y=xtanat—:>"
2" con”

¥
Ix
(D) y=xtana - 3
g ' eos” o

A path traced by a projectile in sky, is

(A) c]liplica'l (B) circular
(C) parabolic (13)  straight

Equations of motion of a body in a straight line iy

(A) v=u-fi (B) w=uwut vlr-:l}-ﬂz

©) V=1’ +2f (D) Al of the above

The velocity ratio of a differential wheel and axle with ) ag the diameter of

cffort wheel and dy and d as diameter of bigger and smaller axles respectively
is

2D
(A) , 2D
D
©) -
dy +d, ®) d,~d,
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93. The force of friction between two bodies in contact

(A) depends upon the area of contact

(B) is always along the surface of contact
(C) depends upon relative velocity of bodies
(D) is normal to contacting area

94, On a ladder resting on the ground and leaning against a vertical wall, the
force of friction will act

(A) upward at its upper end

(B) towards the wall at its upper end
(C) away from the wall at its upper end
(D) downwards at its upper end

95.  The angle which an inclined surface makes with the horizontal when a body
placed on it, is just on the point of movement down is called as,

(A) angle of repose (B) angle of inclination
(C) angle of friction (D) coefficient of friction

96.  The maximum frictional force which comes into play, when a body just
begins to slide over the surface of another body, is known as

(A) rolling friction (B) limiting friction
(C) sliding friction (D) dynamic friction

97. M.l of a solid sphere is

A m ®) %Mr*
2 2 Mrz
© M o 2

98.  The moment of inertia of triangular section (base b, height /) about am axis
through its C.G. and parallel to the base is

b’h bi’
w ® 2
© 2 W

36 2
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99.  Moment of inertia of a square of side ‘b’ about an axis parallel to its side
through its centre of gravity is

b B
A}y — i
(A) 3 (B) =
b By
(C) Y (D) 5

100. The C.G of a right circular cone of diameter ‘d’ and height ‘h’ lies at the
following distance from the base measured along the vertical radius.

f h
(A) ) (B) 3
)

(D)

(C) ‘EI

101. The C.G of semicircle lies at the following distance from its base measured
along its vertical radius 'r’ is

4r 3r

(A) B (B) s
4 Ir
(®) 3 (D) e

102. If the body is in equilibrium and is acted upon by two forces, then they must
be

(A) equal (B) opposite
(C) collinear (D) All of the above

103. If three co-planer forces of same magnitude meet at a point, inclined with each
other at 120°, then the system will be in

(A) equilibrium (B) motion
(C) rest (D) All of the above
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104.  Conditions of equilibrium are

(A) horizontal components of all the forces musl be zero
(B) wvertical component of all the forces must be zero.

(C) resultant moment of all the forces must be zero.
(D)  All of the above

105, If the sum of all the forces acting on a body is zero, then the body may be in
equilibrium, provided the forces are

(A) parallel (B) concurrent
(C) like parallel (D) unlike parallel

106.  Ina couple, the lines of action of the orces are

(A) parallel (B) inclined
(C) wvertical (D) horizontal

107.  The magnitude of the resultant of two like paralle] forces 10N and 30N
separated by a distances of 300mm is

(A) 20N (B) 40N
(C) 150N (D) 75N

108.  The moment of a force about any point is geometrically equal to X times the

arca of the triangle whose base is the line representing the force and vertex is
the point about which the moment is taken. The value of X is

@ 3 ®) 2

(C) 1 1
(D) .

109. Iftwo forces 3 N and 4 N act at ri

ght angles to each :
will be equal to other, their resultant force

My SN B) 7N
(C) IN (D) —;—N
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110.  If two equal forces of magnitude P act at an angle 8° their resultant will be

21

; g

(A) Psmg (B) Pcusi

g

(C) EPBGSE (D) Ptan—

2 2
ENGINEERING GRAPHICS

I11. A line is perpendicular to HP. What is its front view?

(A) A point

(B) A line of shorter in length perpendicular to XY line
(C) A line of true length perpendicular to XY line

(D) A line paraliel to XY line

112. A line is perpendicular to VP. What is its top view?

(A) A point

(B) A line shorter in length
(C) A line of true length

(D) A line parallel to XY line

113.  When a line is parallel to both HP and VP,

(A) side view gives frue length

(B) only top view gives true length

(C) only front view gives true length

(D) both front and top views give true length

114.  If the top view of a line crosses XY line, which statement given below is true?

(A) The line crosses HP (B) The line crosses VP
(C) The line is in II quadrant (D) The line is in [V quadrant

115. When the end projectors of a line inclined to both HP and VP coincide, the
line lies in

(A) HP

(B) VP

(C) the joint between HP and VP

(D) a plane perpendicular to both HP and VP
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116. If the top view and front view of a point K coincides and is above XY line, the

point K 15
(A) inIII quadrant (B) inII quadrant
(C) inIquadrant (D) inIV quadrant

117. There is a straight railway line 20 km long with slope of 20° connecting
Palakkad to Valayar. Another straight railway line 25 km long connects
Valayar and Coimbatore which are in the same level. If Valayar is exactly to
the eastern side of Palakkad, and Coimbatore is at 30° east of north with
respect to Valayar, what is the direction of the newly proposed straight railway
line connecting Palakkad to Coimbatore?

(A) Less than 45° East of North to Palakkad
(B) Greater than 45° East of North to Palakkad
(C) 45° East of North to Palakkad

(D) 30° East of North to Palakkad

118. A line PQ has the end P in HP and the end Q in VP, The line makes 40° with
HP and 30° with VP. Which statement about this line is true?

(A) Both front and top views will be true length
(B) Top view will be longer than the front view
(C) Front view will be longer than the top view
(D) Both views will be perpendicular to XY line

119. A line _AB of length 10 cm measures 7.2 cm in the top view and 8.1 ¢m in the
front view., What is the inclination of the line AB to VP?

(A) 44° B) 46°
(C) 36° ED% 540

120.  Ifthe top view of a line crosses XY line

(A) its front view must cross Xy line
(B) front view will represent true length

(C) vertical trace will lie on the :
: extensi :
(D)  vertical trace will lie on the fropt vi[::-.rﬂfme front view
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121.  If the front view of a line crosses XY line,

(A) its top view must cross XY line

(B) top view will represent true length

(C) horizontal trace will lie on the top view
(D) vertical trace will lie on the front view

122.  The Prnjectiuns of a line are given here (not to scale). Which statement about
the line is correct?

'bl

60mm

a
25mm i 70mm

|
|
X l | Y
|
|

15mm at
30mm

(A) Inclination of the line to HP is more than inclination to VP
(B) Inclination of the line to HP is less than inclination to VP
(C) Inclination to HP and VP are equal

(D) (Inclination to HP + Inclination to VP) = 90°
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123. The drawings represent the top view and front view of a cone in I quadrant.
The cone is

P

(A) standing on HP on its base (B) resting on VP on its base
(C) lying on HP on a generator (D) lying on VP on a generator

124. The drawings (as given in Question No.123) represent the top view and front
view of a cone in I quadrant. How is its axis?

(A) Perpendicular to HP

(B) Perpendicular to VP
(C) Parallel to HP and VP

(D) Inclined to HP and VP

125. Four spheres of diameter “d” rest on the
other two such that their centres
diameter of the sphere that can ju
formed by the four spheres?

: ground with each one touching the
lie at tl.1e comers of a square. What is the
st remain in the gap (without falling down)

(A) d (B) d2
(C) 04144 (D) 1.414d
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126, A cylinder 50 mm diameter and 70 mm height stands on HP E:n a point of rtg
hase circle with the generator containing this point making 40° to HP and 35
to VP. What is the inclination of the axisto VP ?

(A) 40° (B) 35“n
(C) <45° (D) =35
127, Which statement is true for the following tetrahedron?
X ¥

(A) One triangular face is parallel to HP
(B) One triangular face is parallel to VP
{Cy Baseison VP
(D)) Baseison HP

2% A cone 102 mm diameter and 100 mm axis is lying on HP on one of its
generators which is perpendicular to VP. What is the inclination of the axis to

P
(A) 30° (B) 60°
(«y 27° (D) 54°
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129, The top and front views given below represent

Y

(A) apentagonal pyramid resting on HP on its base

(B) a pentagonal pyramid restng on HP on a comer of its base
(C) apentagonal pyramid resting on HP on a side of 1ts base
(D) a pentagonal pyramid resting on HP on its apex

130. A sphere 80 mm diameter resting on t{\e ground is cut by vertical plane
passing through the centre and making 60° to VP. What is the true shape of cut

surface?
(A) Circle 70 mm diameter (B) Circle 60 mm diameter
(C) Circle 80 mm diameter (D) None of the above

131. A cone 50 mm diameter and 70 mm axis length standing on HP on its base is
cut by a plane parallel to an end generator. What is the true shape of section

obtained?
(A) Isosceles tnangle (B) Pamabola
(C) Equilateral triangle (D) Hyperbola
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: P Views of a pentagonal pyramid are gi it
A iven. When it
cutting plane shown, what is the true shape of sectiogn obtained? N

27

X Y
(A) Pentagon (B) Rectangle
(C) Trapezium (D) Hexagon
133.  An octahedron is cut by a section plane as shown. What is the true shape of
section?
T 4 | R
X . Y
: (B) Square
(A) Triangle
(C) Hexagon (D) Rhombus
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134.  An octahedron is cut by a section plane as shown. What is the true shape of

section?
X Y
(A) Triangle (B) Square
(C) Hexagon (D) Pentagon

135. A tetrahedron resting on HP as shown is cut by a cutting plane. What is the
true shape of section?

(A) Square (B) Trangle
(C) Rhombus (D) Parallelogram
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139.

140.
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Which cutting plane can give the biggest possible triangular true shape when a
pentagonal pyramid is cut?

(A) Cutting plane should contain the axis
(B) Cutting plane should be perpendicular to the base
(C)  Cutting plane should pass through the apex and two corners of base

(D) Cutting plane should pass through the apex and slant edge
Perspective views of lines that are parallel to ground plane

(A) will be parallel to ground line

(B) need not be parallel to ground line
(C) will be parallel to each other

(D) will lie on ground line

An equilateral triangle 50 mm side lies on ground plane with one side on
picture plane. The station point is 60 mm in front of picture plane, 70 mm
above ground plane and the central plane passes through the centre of the

triangle. What is the shape of its perspective view?

(B) equilateral triangle

(A) scalene triangle
(D) isosceles triangle

(C) aline
Horizon plane in perspective projection is

(A) a plane passing through the axis of solid
a plane passing through the eye parallel to ground plane

(B)

(C) aplane passing through the eye perpendicular to ground plane
(D) a plane passing through the horizontal axis of solid

When height of observer is equal to the height of the cylinder which is

standing on its base on ground plane, what is the shape of the perspective view

of the top circular face?

(A) aline

(B) a point _ N
(C) an ellipse which is fully visible

(D) an ellipse which is partially visible

Isometric projection of a sphere with radius “R™ is

(A) an ellipse with major axis 2R (B) an Fl]ipse ‘with major axis R
(C) acircle of radius R (D) acircle of radius (Rx0.816)
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Isometric view of a pentagonal pyramid is shown here. Which statement is

correct?

(A) Itislying on HP on a triangular face
(B) Itislying on HP on a triangular face with axis parallel to VP

(C) Itsaxis is perpendicular to VP
(D) None of the above

Isometric projection of a circle of 80 mm diameter is an ellipse with

(A) 40 mm minor axis (B) 80 mm major axis
(C) (80 x 0.815) mm majoraxis (D) (80/0.8915) mm major axis

A length of 2.5 km is represented by 10 mm in a drawing. What is the scale?

(A) 10:25 (B) 25:100
(C) 1:250000 (D) 1:2500

In a diagonal scale, the unit on the left side is meter. The height is divided into
20 equal parts and marked 0, 5, 10, 15, 20, ...... up to 100. What is the
smallest distance that can be represented on this scale ?

(A) 1 decimeter (B) 1 centimeter
(C) S decimeter (D) S centimeter

Length of larger conjugate diameter of an ellipse will be

(A) more than major axis

(B) between major and minor axis
(C) distance between two foci.
(D) length of major axis
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147.  The foci of an ellipse are 80 mm apart and its major axis is 100 mm. Whet i3
the length of its minor axis?

31

(A) 60 mm (B) 20 mm
(C) 50 mm (D) 70 mm

148. A ball is thrown from the ground and it just passes over a tree 5 m tall and
falls to the ground tracing a parabolic path. The focus of the curve is on the
ground itself. What is the size of the rectangle in which the curve can be

drawn?
(A) 5m X 5m (B) 5m x 10m
(C) 5m x20m (D) 5m x 25m

149.  Length of transverse axis of a hyperbola is

(A) distance between the vertices

(B) distance between the foci

(C) radius of outer auxihary circle

(D) distance between veriex and centre

150. The curve satisfying Boyle's Law is a

(B) parabola

(A) rectangular hyperbola
(D) hyperbola

(C) cycloid

GENERAL ENGINEERING

151. Good quality of cement contains higher percentage of

(B) di-calcium silicate

(A) tricalcium silicate ' |
(D) tetra calcium alumino ferrite

(C) tricalcium aluminate

152. Concrete slump recommended for beams and slabs is

A) 25-50mm (B) 25-75mm
EC; 23 195mm (D) 50-100mm

153. The foundation in which beam is provided to join two footings is known as
(B) strap footing

A) strip footing ;
EC; combined footing (D) raft footing
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154.

156.

157.

158.

159.

160.

Portland pozzolana cement possess

(A) higher resistance to chemical attack
(B) lower heat of hydration

(C) lower shrinkage on drying

(D) All of the above

A 1% class brick immersed in water for 24 hours, should not absorb water

(by weight) more than

(A) 10% (B) 15%
(C) 20% (D) 25%

The type of bond in which every course contains both headers and stretchers is

called

(A) English bond (B) Flemish bond
(C) Mixed bond (D) Russian bond

mark of RL 200.00 m is 2.685m, If

The back staff reading on a bench
the reduced level of the point is

foresight reading on a point is 1 345m,

(A) 202.685 (B) 201.345
(C) 201.340 (D) 204.030

A relatively fixed point of known elevation above datum is called

(A) bench mark (B) datum line

(C) reduced level (D) reference point
Surveys which are carried out to provide a national grid of control for
preparation of accurate maps of large areas are known as

(A) plane surveys (B) geodetic surveys

(C) geographical surveys (D) topographical surveys

An imaginary line joining the points of equal elevation on the surface of the
Earth represents

(A) contour surface (B) contour gradient
(C) contour line (D) level line
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Which of the following is an intensive property of a thermodynamic system?

(A) Volume (B) Temperature
(C) Mass (D) Energy

The value of 1 bar in SI unit is equal to

(A) 100N/m’ (B) 1x10* N/m?
(C) 1x10°N/m? (D) 1x10°N/m2

The specific volume of water when heated at 0°C

(A) first increases and then decreases
(B) first decreases and then increases
(C) increases steadily
(D) decreases steadily

Work done in a free expansion process is

(A) zero (B) min:in_lum
(C) positive (D) negative

In SI unit the value of the Universal Gas constant is

(A) 8.314 J/molK (B) 83.14 J/mol/K
(C) 8314 J/mol/K (D) 8314 J/mol/K

In a reversible cycle, the entropy of the system

(A) increases
(B) decreases

(C) does not change
(D) first increases and then decreases

Rankine cycle efficiency of a good steam power plant may be in the range of

(A) 151t020%
(C) 70 to80%

(B) 35t045%
(D) 90 to95%
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For the same compression ratio,

s greater than that of Diesel cycle
t of Diesel cycle
that of Diesel cycle

(A) thermal efficiency of Otto cvcle i
(B) thermal efficiency of Otto cycle is less than tha
(C) thermal efficiency of Otto cycle is the same as
(D) None of the above.

With increase in pressure,

(A) enthalpy of dry saturated steam INCTeases

(B) enthalpy of dry saturated steam decreases

(C) enthalpy of dry saturated steam remains the same

(D) enthalpy of dry saturated steam first increases then decreases

In an iso-thermal process,

(A) temperature increases gradually
(B) volume remains constant

(C) pressure remains constant

(D) change in internal energy is zero

The unit of Electric flux is

(A) weber (B) tesla
(C) coulomb (D) volt

The time period of free oscillations in a galvanometer having a relative
damping of 0.6 is 2 seconds. The frequency of damped oscillations is

(A) 0.5rad’s (B) 0.4 rad/s
(C) 0.3 rad’s (D) None of the above

Moving iron voltmeters indicate

(A) the same value for DC and AC voltages
(B) lower values for AC voltages than that for corresponding DC voltages
(C) higher values for AC voltages than that for corresponding DC voltages

(D) None of the above

When a voltage of 400 sin 314t is applied to a resistive load of 10 €, the

current is
(A) 40A (B) 4A
(C) 28A (D) 56A
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A series circuit consisting of two elements has the following current and
voltage relations

=4 cos(2000t +11.32°)A

~ v=200 sin(2000t +50°)y
The circuit elements are

(A) resistance and capacitance (B) resistance and inductance
(C) capacitance and inductance (D) both resistances

What is the phase angle of a series RLC circuit at resonance?

(C) 90° (D) 30°

The power input to a 3 phase star connected resistive load drawing a current of
5A from a 400V 50Hz 3 phase AC supply is

(A) 2000 w (B) 6000 w
(C) zero (D) 3465w

To which component in a RC circuit is the power dissipation due?

(A) resistance (B) capacitance
(C) Both (A)and (B) (D) None of the above

Power in a 3 phase 4 wire balanced system can be measured by

(A) 3 ammeters only (B) 3 voltmeters only
(C) 1 wattmeter (D) None of the above

Each branch of a 3 phase delta connected system contains resistances of 10 Q.
The branch resistances in an equivalent star connection is

A) 6.67Q (B) 10Q
H 3.33Q > 30Q

The concentration of minority carriers in a semiconductor depends mainly on

i temperature
A) the extent of doping (B)
EC; the applied bias (D) None of the above
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When a p-n junction is reverse biased

(A) holes and electrons move away from the junction

(B) holes and electrons move towards the junction . _
(C) holes move towards and electrons move away from the Junct‘fon
(D) electrons move towards and holes move away from the junction

LVDTisa
(A) pressure transducer (B) displacement transducer
(C) wvelocity (D) acceleration

The gauge factor of a metallic strain gauge is about

(A) 2 (B) 10
(C) 100 (D) 1000

A Darlington pair is used for

(A) low &istnrtion. (B) high frequency range
(C) high power gain (D) 'high current gain

The theoretical maximum efficiency of a half wave diode rectifier is

(A) 50% (B) 81.2%
(C) 40.6% (D) None of the above

If input frequency is 50 Hz, the frequency of output wave in a half wave diode

rectifier circuit is
(A) 25Hz (B) 50Hz
(C) 100 Hz (D) 200Hz
If the carrier of a 100% modulated AM wave i
power saving will be o, peReeaage of
(A) 50 (B) 150
(C) 100 (D) 66.66
In an FM signal, the modulating fre i maxim
' quenc 2 ' O
10 kHz. The bandwidth requirement js - - - 2 220 omeviatin is
(A) 2kHz (B) 10 kHz
(C) 5kH=z D) 32 kHz
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The efficiency of a bridge rectifier is

(A) 0.406 (B) 0.812
(€ 13] (D) 1.11

Which technology is used in Compact disks?

Electrical
Laser

(A) Mechanical (B)
(C)  Electro Magnetic (D)

C programming langua ge was developed by

(A) Dfannis Ritchie (B) Ken Thompson

(C) Bill Gates (D) Peter Norton
Which of the following is a Scalar Data type?

(A) Float (B) Union

(C) Array (D) Pointer

pt+ executes faster than p+1 because

(A) p uses registers (B) ++is faster than +
(C) pttisa single instruction (D) None of the above

Header files in C contain

(A) compiler commands

(B) library functions

(C) header information of C programs
(D) operators for files

A function that calls itself for its processing is known as

(A) inline function (B) nested function
(C) overloaded function (D) recursive function

A multidimensional array can be expressed in terms of

(A) array without the group of contiguous array

(B) data type arrays ‘

(C) array of pointers rather than as pointers to a group of contiguous array
(D) None of the above
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198.  Swapping

(A) works best with many small partitions

(B) allows many programs to use memory simultancously
(C) allows each program in turn to use the memory
(D) does not work with overlaying

199, Computers attached to an Ethernet uses

(A) CDMA (B) TDMA
(C) FDMA (D) CSMA/CD

200. Which of the following cables can transmit data at high speeds?

(A) Coaxial Cable (B) Optic Fiber Cable
(C) Twisted pair Cable (D) UTP Cable

L L
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